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Figure 2: Android Auto – source: 
android.com/auto 

Figure 1: Cadillac CT6 gesture pad –
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�4�"����� �,� 2$���&�$� (�!"������ 4$#�($�I� &C� ����!���#$�
�$����$�&��$4�=5��(�������I���4�(C���4�����!���#$��+���,���
�!���" ��$�� >� gesture based control of  automotive HMI 
seems like a plausible application of wearable computing 
technology0�
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A. Constraints and Challenges 
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B. Gesture Vocabulary 
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Table 1: Gesture Vocabulary 

Gesture Movement Meaning 
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Figure 3: Mock HMI Menu Hierarchy  

C. Menu Hierarchy 
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Listing 1: F# code for FnSM to recognize the "aaab" pattern 

type M<'s> = M of ('s -> M<'s>) 
 
let rec start = function  
| 'a'  -> M a1 
| _    -> M start 
 
and a1 = function 
| 'a' -> M a2  
 
and a2 = function  
| 'a' -> M a3 
 
and a3 = function  
| 'b' -> M ``end`` 
 
and ``end`` _ = M ``end`` 
�
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Figure 4: Example FSM for recognizing the “aaab” pattern 
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Listing 2: A partial FnSM for the Swipe gesture 

let rec start = function 
| {Snsr=LinearAcceleration; Z=z} when  
    abs z > MIN_Z_THRESHOLD  
    � side_to_side z 1 |> M 
| _ � start            |> M 
 
 
and side_to_side prev_z count = function 
| {Snsr=LinearAcceleration; Z=z} when 
     count < COUNT_LIMIT  
     � 
        let curr_z = updateAvg (prev_z, count, z)  
        side_to_side curr_z (count + 1) |> M 
 
| …  
//COUNT_LIMIT exceeded,make the transition decision… 
�

�
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 Figure 5: Cultural Algorithms Architecture 
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Listing 3: Cultural Algorithm Definition in F# / OCaml Notation 

 
type CA = 
    { 
        Population              : Population 
        Network                 : Network 
        KnowlegeDistribution    : KnowledgeDistribution 
        BeliefSpace             : BeliefSpace 
        AcceptanceFunction      : Acceptance 
        InfluenceFunction       : Influence 
        UpdateFunction          : Update 
        Fitness                 : Fitness 
    } 
 
where: 
Topology  = the network topology type of the population e.g. square, ring, global, 
etc. 
Knowledge   = Situational | Historical | Normative | Topgraphical | Domain 
Individual  = {Id:Id; Parms:Parm array; Fitness:float; KS:Knowledge} 
Id          = int 
Parm        = numeric value such as int, float, long, etc. 
Population  = Individual array 
Network     = Population � Id � Individual array 
Fitness     = Parm array � float 
BeliefSpace = KnowledgeSource Tree 
Acceptance  = BeliefSpace � Population � Individual array 
Influence   = BeliefSpace � Population � Population 
Update      = BeliefSpace � Individual array � BeliefSpace 
KnowledgeDistribution = Population � Network � Population 
 
KnowledgeSource =  
    { 
        Type        : Knowledge 
        Accept      : Individual array � Individual array * KnowledgeSource 
        Influence   : Individual � Individual 
    } 
 
Notation key: 
type   = basic type e.g. int, string; a record; a union or cross product of types 
record = { [field name : type]+ }, is a tuple with named fields 
type * type = a cross product of two types e.g. int*int 
type | type = union of two types (can be a value of either type) 
type � type = function where LHS is the input and RHS is the output 
type � type � type = a function that can be partially appied 
type array = a 1-dimensional array of the corresponding type 
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Figure �: Hierarchical organization of the gesture recognition FSM 
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Figure 8: Rotation Vector sensor data plot for repeated Twist 
gestures 
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Figure 6: Sony Smartwatch 3 axis 
orientation 
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Figure 9: Sample optimization run showing best fitness and change 
in KS distribution over generations (pop. size = 1000) 

L��0� �86�G�/�86/�

��� � $� (���$@�� �,� � $� � �$$� $!$������ ��$�4�� �,� �C�
!������$�!�2$���&�$�(�!"�������4�"����I�&C� � $� ��(�$������
��$��,��$����$��&��$4�����!���#$�=5��(�������I���4�(C��$2�
�+���,�������!���#$��!���" ��$����$��������� $������2�������
���2$�� � $� D�$������ �,� 2 $� $�� ��A�� #��&�$� ��$� �� 2$���&�$�
4$#�($� B�"$(�,�(���.� �!���2��( C� ,��� �$����$� (������� �,�
����!���#$�=5�0�

7 $�$� 2$�$� �� ,$2� ( ���$��$�� ��� (����4$�� �C� ��!��$4�
(�!"����������"�2$����4�&���$�.���,$��,�2$���&�$�4$#�($�I�&C�
��!��$4��"�($��#����&�$����� $�4��#$��B$�"$(����.�������$,�� ��4�
4��#$�(���2$������� $��!���2��( ����� $��$,��2����CI���4�(C�� $�
����$� ��!&$�� �,� "����&�$� =5�� !$��� �"������ ��� ��4�.A��
����!���#$�=5���.��$!�0������4$������$���� $�#��&����.��,�� ���
�""���( �� $�,����2������$"��2$�$���:$������ $�"��Q$(�H�

632



�

�� ����!"�$��$����$�#�(�&����.����4��#$��� �$���( �(���!$���
&��$4�!�(:�=5��2���4$#��$40�

�� ���$����$� �$(��������� �.��$!���� ��� �""� � ��� �������� ��
�!���2��( �2����!"�$!$��$40�

�� �������#���#$1�,��(�������"�����!!����&��$4��""���( �
���(�!"�(��.�!�4$��,����$�����$�!�( ��$��,����$(����?����
(�!"�$@���4����( ����(�"���$����2���4$#$��"$40�

�� 7 $����������������� !�2������$��$4������� $���!��������
���"������4$������"��!�?$�� $� �!��A����������&$�����$���
"���!$�$��#���$�0�

����V�B��0�� ����
C� �$(����������((���(.�2����( �$#$40�
7 $����������4����2����������$4�,���#���4�����0�

7 $� "�$��!����.� �$�$��( � �$������ � �2� � ��� 2$���&�$�
4$#�($��$����$��$(������������#��&�$�,�������!���#$���$�&���� $�
D�$������ (������ &$� ,���.� ���2$�$4� ������ �����,�(���� ,�$�4�
�$���������"$�,��!$41�2 �( ����"����$4�,���� $��$@��" ��$0�

���� $�,����$�" ��$���,�� ����$�$��( �� $��������������(�$��$�
� $��$����$��$(����������((���(.�&.��$�$@�!������� $�-�/5�
����(���$� $�"$(����.� ��� ��� �� �,� ���(:� #����&�$�I� ��$� �$"����$�
�����������4�#���4�������$��I���4���$����������4�����$(��4$4����
��!�#����#$ �(�$����&$��$��$!����$�� $�4��#$�A��$�#����!$��0��

����44�����1�� $����������������� !������"�2$�,����$( ��D�$�
��4�(���&$��""��$4���2��4���$�������� $�����(���$��,�� $�-�/5�
>�����Q�����"��!�?����� $�����&�$�"���!$�$���B2 �( �2���4��$�
,������� ����$�$��( �$,,���C0��-����$�"�������$������#$������$�� $�
��$� �,� ��� ��� �$�$���$� &$��$�� -�/5� ����(���$�� ��#$�� � $�
���������4������4�� $��"��!�?������,��!�������0�

��S68%G�')�5�67/�

'�0�*$.���4��2�� $�� ��� �(:��2�$4�$� � $� ��""���� �,� � $�
6��������/(�$�($�-���4������� ���� �)�����P����
�	0�

*�-�*�6��/�

�

;�<�� �'�1�W%���42�4$�%$���&�$���!"������'$#�($�5��:$���
����
���
-��$(������4�����.���1W��'�1�-��!��� �!1��
��0�

;�<�� �'�1�W�'��%���42�4$������!$��7$( �����.�+�$4�(�����1W��'�1�
-��!��� �!1�5�1��
��0�

;
<�� E�'�+�2$�1�WL��($�*$(���������6�0��+��&�$!�%�� �6$2�L$ �(�$�1W�
;8����$<0��#����&�$H� ��"H��2220Q4"�2$�0(�!�"�$����$�$��$���
���
!����!$4���D�����.���4������,�(��������4.0�;�(($��$4�����������
�
��<0�

;�<�� +0�=���1�70�/0�=�������4�50�7��:1�W)$����$�5�4$�������4�
*$(���������������-����$�/���$�5�( ��$�1W����IEEE International 
Conference on Automatic Face and Gesture Recognition1�)�$��&�$1�
�


0��

;�<�� 5�(����,�����"�������1�WL������-P1W�;8����$<0��#����&�$H�
 ��"�H��!�4�0!�(����,�0(�!�$�������&���.�44�

���0��"@0�;�(($��$4�
�
��<0�

;	<�� 5�(����,�1�W+���$���5��( ����B-PC1W��
�
0�;8����$<0��#����&�$H�
 ��"�H��!�4�0!�(����,�0(�!�$�������&���.�44������0��"@0�

;�<�� +0���4�$2�1�W� ��( X��7."$�7 $��.1W�/"������
��0�;8����$<0�
�#����&�$H� ��"H��"����0����,��40$4����( �#$���"��
���$����$���."$�
� $��.�( ��( 0�

;�<�� 90��0�+�$�($1��0������� ���1�50�)�&���4�1�50�)�$$�&$��1��0�=��Y(�1�
L0�/QZ&$�����4�90�M���$.1�W/�,�2��$�-���4�������B�����$�&��:C1W�
���#$����.��,�+$���.�#����1�+ ���4$�" ��1��
��0�

;�<�� 60�*.( �.(:.Q���4�*0�*$.���4�1�W���������������������� !�����*$�
�����$$��G���$�/(��$�/$!����(�6$�2��:�1W�International Journal of 
Software Engineering and Knowledge Engineering, #��0���1���0��1�
""0�		��	�
1��

�0��

;�
<� M0�)�1�=0�'1�M0�8����4�%0�/ $��1�W=�!���)$����$�*$(���������
� ���� ���S��$(��/$����1W����Proceedings of the 2012 IEEE 
International Conference on Robotics and Biomimetics 1�
)����? ��1��
��0��

;��<� 50��0�5�?$�1�W6$������$����( ��$(���$��,����$!"������$D�$�($�
"��($�����1W����#$����.��,�������4��1�9���4$�1�����0�

;��<� �0�5�(������4�70������$�1�W=�6'�)�/7�*�/�*��8)6�7�86�
�/�6)�7�5��'�G�M�6�7%8*S/1W�Journal of Information 
Systems & Operations Management, ��0�%���$���
�
1�""0����1��
�
0�

;�
<� M0�G0�=��1��0�G0�� �1�M0�E0�7������4�E0�/0�%���1�W�����$������+$��
%�� �'.��!�(�7�!$�%��"����*$(����?$��,���=��42���������4�
)$����$�*$(��������1W�Sensors Journal, IEEE, #��0���1���0��1�""0�����
���	
1��
��0��

;��<� E0�%��1�)0�+��1�'0�N ���1�)0�[����4�/0�G��1�W)$����$�*$(���������
2�� ���
�'��(($�$��!$�$�1W����Ubiquitous Intelligence and 
Computing1�/"����$��9$�����=$�4$�&$��1��

�1�""0������
�0�

;��<� /0�N ��1�-0�-$�1�)0�N ���1�E0�5��1�M0�G��1�E0�G������4�%0�G�1�W�'�
=�!���)$����$�7��(:������4�*$(���������&.�� $�-�������,�5�5/�
��$��������4�L������/$�����1W�Sensors Journal, IEEE , #��0���1���0��1�
""0���	
����
1��
��0��

;�	<� �0�*�!�!���� .�1�60�L��2����1�/0�� ��4 ��.����4�/0�9��$�Q$$&1�
W*$(����������,�4.��!�(� ��4��$����$�1W�Pattern Recognition, #��0�

	1�"0��
	��>��
��1��


0��

;��<� �0��:����4�/0�L���$$1�W����G�*85�7�*�9�/�'�)�/7�*��
*��8)6�7�86�L���'M6�5��>7�5��%�*+�6)1��--�6�7M�
+*8+�)�7�861�\��85+*�//�L��/�6/�6)1W����IEEE 
International Conference on Acoustics, Speech and Signal 
Processing1�'�����1��
�
0��

;��<� 50���!$?���1��0����=�!�4�1�E0��""$���4����4�90�5�( �$���1�W��
=�44$��5��:�#�5�4$��9��$4������������)$����$�*$(���������
/.��$!�,���=��4�5������7��Q$(���.1W����Pattern Recognition, 2008. 
ICPR 2008. 19th International Conference on1�5��4$&���1��

�0��

;��<� *0�*$.���4�1�W���������������� !�H���7�������1W�;8����$<0��#����&�$H�
 ��"H������"�0$����0�!40�!�( 0$4��#��2�R2��:� �"��(�������R���R�
$.���4�R2�0"4,0�

;�
<� *0�)0�*$.���4�1�50�������4�70�E�..����1�W5������� $�/�(����-�&��(�
�,���( ��(���&����$��$���2�� ����������������� !�1W�IEEE 
Computer, #��0���1���0��1�""0�	����1��

�0��

;��<� 50����1�+0�/����� ��1�*0�*$.���4����4��0����9�4���$ 1�WG$#$���$4�
6$�� &�� ��4�*$����(�������������������������� !��,���/��#����
*$���%���4�6�!$��(���8"��!�?������+��&�$!�1W�IEEE transactions 
on evolutionary computation, �
��0��

;��<� N0�S�&��1��0�/��24��1�/0�*� �!��1�70�'����"���4�*0�S$��1�W��
���������������� !����)��4$�'��#$��G$�����������""�.����� ��4�
L$ �(�$�/�,$�.�*$�������1W�IEEE Congress on Evolutionary 
Computation, ""0����������1��

	0��

;�
<� )����$1�W/$������8#$�#�$21W�)����$1�;8����$<0��#����&�$H�
 ��"H��4$#$��"$�0��4���40(�!����4$���"�(���$�������$�����R�#$�#�$2
0 �!�0�;�(($��$4��	����
��<0�

;��<� *0�)0�*$.���4����4�G0�S������4�=$$� $�1�W6$�2��:��'��5���$�H�7 $�
/�(����.�5���#��$4�'$������,���
'�*�($���������$�����������������
������� !�1W�International Journal of Swarm Intelligence Research, 
#��0��1���0��1�""0������1��
�
0��

�

633


